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Q.1. The traditional approaches to the comparative politics neglected the

JOI® ST & e URURS SPH0T &1 3T &1 TS

A). |Study of Government

HIDN ol AT
B). |Institutional studies

YT 3T
C). | Comparison of the constitutions

Tfqe=t &1 ge
D). |Empirical investigations [Correct Answer]

YT |id
Q.2. Who among the following elite theorists said, “A man is effective in society as a

whole, not so much because of his individual qualities as because of the social

energies which have been deposited in him by the mass” ?

fFraffEd oo Rigidor! ¥ fead oer. te et R g9 J uwrdl 8, 7 & o
HAfKIT 70N & DRI dicth YIS Sall & HRUI S 39 H g U W o &1 7T 87

A). |Pareto

el
B). |Gasset [Correct Answer]

Tqge
C). |Michels

BRI
D). |Mosca

Ol




Q.3. Who out of these challenged the idea of political development as a unilinear
process?

30 ¥ by IS [Ad & f9aR o te 3@ ufshal & 0 H gHId] &7

A). [Shils
2

B). Huntington [Correct Answer]
HEIGE]

C). |Aimond
dlgH

D). |Halpren

gl

Q.4. Which individual from the following is linked with the Institutional
Approach?

fFrafifad ¥ 9 o1 91 afdd derd e 3 Jergene?

A). |James Bryce [Correct Answer]

o STE
B). Merriam
ARTH
C). |Arthur Bentley
3R ded
D). |Lasswell
agdd
Q.5.

The correct sequence of the input functions of Almond’s Political System 1s:
(1) Interest aggregation

(11) Interest articulation

(111) Political socialisation and recruitment

(1v) Political communication

Select the correct answer from the codes given below:



A).

B).

Q).

D).

Q.6.

A).

B).

Q).

D).

Q.7.

TNSae ScHHS] Bi Hiifdd YUl & 399 DAl D1 Ugl 3FIsHH &
(i) ATl UhAIhI0

(i) Sfd Hfeaidd

(iii) TSHTT® GHTSHEI 3R Helf

(iv) IoHITdD TR

- f&u U gef o 9§ wel SR 9T

(i), (iii), (i) and (iv)

(11), (111}, (1) \ﬁ? (1v)

(i), (ii), (i) and (iv) [Correct Answer]
(111), (11), (1) Gh? (1v)

(iii), (), (ii) and (iv)

(i), (0, (D) 3R @v)

0, (i), (iii) and (iv)

(). (i), Gii) 3R Gv)

The concept of civic culture used by Almond and Verba developed out of a survey of

HEST 3R g gRISULRT D1 &1 dTeh AFTRD YEhid DI HTHURUN b Faa I fasid
GEY.

Mexico, India, Pakistan, U.S.A. and U.K.

T, YRd, Uifdr e, Ygad ol SHRST 3R 4.

U.S.A., UK, Mexico, Germany and lItaly. [Correct Answer]
Uy oy eI, feldH, TicRol, ot 37k gedll

US.A., UK, Australia, Pakistan and India.

YUY, g b, i, urfdreaq 3R HRd |

Australia, Canada, U.S.A., U.K. and France.

HI TSN, SBTS], Ygad Il SR, fad ik 1ig|

Which of the following statements are correct about the President of America 7
1. He is the head of the State and also the head of the Government.

2. All executive powers are vested in him.
3. He 15 bound by the advice of his Cabinet.
4. He has the power to dissolve the legislature.

Codes :



FafiEd & 9 &F 9 $YH SRS & IPud & IR 7 951 82
1. 98 I &I U Bidl & AR WHR &1 U i gidi 8|

2. ot SR wfdaar 34 & Ffga 81

3. 98 U HEAHSd &1 Yellg A & fau a1 g |

4. 3YD Y fATADT DI T B DI Wlad |

GAES

A). |1 and 3 are correct.
1 3R 3 TRl gl

B). |2, 3 and 4 are correct.
2.3 3R 4 TR Bl

C). |1, 3 and 4 are correct.
1.3 3R 4TRIgl

D). |1 and 2 are correct. [Correct Answer]

1 3R 298Il

Q.8. Who prefers to characterize the Indian federalism as “bargaining
federalism”?

YR Y9aIG & g J9die” & ©4 1 [igd S & UdHe $dl 87

A). |AK. Chanda
U dal

B). |Morris Jones [Correct Answer]

TRy o=
C). [K.C.Wheare
P TR

D). |D.D. Basu
Siglayg

Q.9. In which of the following countries the courts do not have the power of Judicial Review?

1. USA
u UK
111. France

1v. India

Codes:



FafaRad # 9 o9 2 # gl & Ui aiide JHiET 31 i T8l 87
i, Tgad Iog AR

i g

iii. 1Y

iv. HRd

s

A). iii

11

B). |ii and iii
ii M i

C). |iandiii
; R i

D). |ii [Correct Answer]

11

Q.10. Who among the following thinkers gave the concept of “lions” and “foxes”?

Fofafed faare! 4 9 féud IR 3R "dHSl B SeRun &

A). |Robert Michaels
ad HgDHE
B). |C. Wright Mill
i Trge i
C). |Vilfred Pareto [Correct Answer]
fddhs tiet
D). |Burham
aiglH

Q.11. Globalization signifies which of the following:

3l FufafRed 7 9 fegs udis §-
A). |Time-space compression
B). | The integration of the world economy
fasy arfogawr &1 UBieHRul

C). |The growth of supra-territorial relations between people

ATl & ST GuI-&H el 1 faery




D). | All of the above [Correct Answer]

ERUCSRE

Q.12. Which individual among the following is connected to the revival of political
theory?

Faferiad 5 4 oF 11 ofdd Ae-iiad FHgid & TeaR J 931 g3 87

A). |David Easton

Sfas g

B). |Alfred Cobban

3ths Pl

C). |Vogelin [Correct Answer]
CIUINES

D). |Laslett
qrgae

Q.13. The classical theory of administration is also known as

UL & A Eid 3 g ©9 3 o SF1 9 87

A). |Locational theory

®H fgid

B). |Historical theory

UfeTie Risid

C). |Mechanistic theory [Correct Answer]

Taad i

D). |Human Relations theory
A Hde R¥gid

Q.14. Job loading means
B UNIEUCIRGREE

A). | Deliberate upgrading of responsibility, scope and challenges. [Correct Answer]

Jaalid, BraE R gl ST gfaad SagH|

B). |Shifting of an employee from one job to another.

Udh HHARI Bl U Hidb<] U gERl A1l H RHIdaRd &l

C).  |Making the job more interesting.

B I 3R S fGaaw M1

D). |All of the above




P Tuhi

Q.15. Who among the following thinkers rejected the principles of administration as
myths and proverbs?

fafaRad foars! & ¥ oo uemee & fieial &f st ok sgadl & 0 5 @ie o
fear

A). |LD.White
TSl @5

B). |W.F. Willoughby
S&cg UE faail

C). |Herbert Simon [Correct Answer]

RECRIIELE
D). |Chester Bernard

T IS

Q.16. Who holds the view that bureaucracy as an organisation cannot correct its
behaviour by learning from its errors?

g B A & fh Th WTa- & w0 H b= 30! ATl U Ugd 30+ AdgR Bl didh
el B WDl 87

A). |M. Crozier [Correct Answer]
TH DIfoR

B). |H.J. Laski
TFS AP

C). |F.M. Marx
Th.0H. A

D). |Max Weber

A deR

Q.17. Which of the following principles figure in the list of fourteen principles propounded by Henry

Foyal?

(1) Subordination of individual interest to general interest.
(1) Appointment on the basis of a contract.

(111) Espirit de corps

(1v) Equity

Codes:



A).

B).

Q).

D).

Q.18.

A).

B).

Q).

D).

Q.19.

A).

B).

& I R Hfauiied diae Rigidl & g | Fofaiaa § ¥ &F a1 Rigia Tia g2
() WY T8 d & T oafaTd féd i srdi-ar
(if) TfdeT o SR R Fgfd|

(i) HTHT 3R F81e

(i) 3fpel

s

(i), (ii) & (iii)

. (i) 3R (i)

(1), (i) & (iv) [Correct Answer]
(). (i) AR ()

i), (i) & (iv)

(id). (iii) TR (iv)

(1), (i) & (iv)

©). (@) 3R Gv)

According to Herbert Simon, a decision is usually compounded of

Balc WIS & SFYER, T (HUig SR IR fosdiah fod wifee gian &2

One fact statement and one value statement

U d HYF 3R U 7Y fadaro

One value statement and several fact statements [Correct Answer]
Udh qd fdavul 3R &3 aw &yH
Several value statements and one fact statement

s Yol HYH IR U 9 By

Several value statements and several fact statements

B qod DY AR &5 ad HYA

Which of the following concepts of administration is action oriented rather
than structure oriented?

URIGH &1 Fgfeiad 9 U & U SauRun GdH1 379 §1H & a9l BRals 344 87

Democratic Administration
NIGGIEER U]

Autocratic Administration



. q
C). |Development Administration [Correct Answer]

ATy U=mE
D). |All of the above

S T

Q.20. Who among the following has not made a distinction between public and
private administration?

Fafafaa ® ¥ fou- adeaE SR Hol u=meH & dig Sidr 8! [dar g2

A). |Henry Fayol [Correct Answer]
RN

B). |Herbert Simon
gae A

C). Paul H. Appleby
Uici U Tugeiet

D). John Gaus
EIERIIRs

Q.21. Which of the four major issues of Public Administration were debated in the
Minnowbrooke Conference, 1968?

fPriig YricH, 1968 H id WRIEH & IR U9E g5 H ¥ ey IR dgu gs 47

A). |Relevance, values, equity and change. [Correct Answer]
URIfTeT, He, 3fdhdt ok uRkadH|

B). |History, qualities, values and development.
Side. 0T, §ed 3R fdor|

C). |Text, context, relevance and status.

ars, day, ureiiear 3R [
D). |Norms, values, context and progress.

AMES, Hed, GeH &R ufd|

Q.22. Which one among the following is considered as the first coherent theory of
organization?

Frafafad o 4 oy W1a- &1 ugd YuvTd fEid 3E1 ol 82

A). |The Human Relations Theory
g a9 gid



B). | Scientific Management Theory [Correct Answer]

IS useE fgia

C). | The Systems Theory
e fgia

D). |[The Bureaucracy Theory

ol [sid

Q.23. Identify the correct sequence of Morton Kaplan's models of systems analysis?
(1) Balance of Power
(1) Loose Bipolarity
(111) Tight Bipolarity
(1v) Umiversal International System
Codes:
Hi¢q DU b [ed [d2mul & Aled & el 3HH &1 UgdH B2
(i) i ga
(in) Sici feydiadn
(iid) 7T feggdiaan
(iv) GIdHIHS SiRIP vured
GAEE

A). |(iv) Gii) (i) (i)
(1v) (1) (11) (1)

B).  |(iii) (iv) Gii) (i)
(1) (1v) (1) (1)

C).  |Gv) (i) Gii) ()
(1v) (11) (1it) (1)

D). |G (i) i) (iv) [Correct Answer]
(1) (1) (i11) (1v)

Q.24.  Which of the following are part of Morganthan’s realist principles?
(1) Politics 1s rooted in a permanent and unchanging human nature.
(11) Self-interest 1s a basic fact of the human condition.
(111) Coercion 1s only part of foreign policy.
(1v) National interest defined in terms of power.

Codes:



A).

B).

Q).

D).

Q.25.

A).

B).

Q).

D).

Q.26.

A).

B).

fafafad & O oF ararye & gurfard s arfewr e
(i) Y- U IR 3R 3uRad-ig a4 uefd 9 Algd g1
(if) ¥d-fed A4 Ul &1 U gFare a gl
(iif) ST fcw =ifd &1 Had Us fex &1
(iv) APTT T I ifdd &1 P ¥ uRHIfd febar mran 81
GAES

All are correct.

a4l g1 51

(i), (i) and (iv) are correct. [Correct Answer]
(i) (i) SR (iv) R €

(i), (iii) and (ii) are correct.

(i), (iii) 3R (ii) TSI §

(i), (iii) and (iv) are correct.

(i), (i) 3R (iv) TSI 21

Democratic Peace Theory is placed under which theoretical approach of
International relations?

it i sl &t SRl dau & G Jsifos eBe & ded @ m e?

Structural Realism

WHIHD gurddrg

Republican Realism

fRufeses- gurdarg

Neo-Realism

J9-gyniarg

Institutional Liberalism [Correct Answer]
WP JaRAlg

In the 12U2, If India and Israel are the two I's and the U.S.A. is one U, which
country is the other U?

1202 T, UfE YRd AR SoRIBA Gl | 8 3R US.A. T U &, df GET U ®IF 91 ¢RI 87

UK
Ukraine

Tl



0). UAE [Correct Answer]
TG 3RT AR
D). | Uzbekistan

RECIGTISIC)

Q.27. Durand Line is an international border between which two countries?

S I o o & & o9 U Siaaip i 87

A). Afghanistan and Pakistan  [Correct Answer]
B 3R Ul

B). |Pakistan and China
Uifdeed™ 3R 9

C). |India and Pakistan
YR 3R Uifeed=

D). |Russia and China
g 3R IH

Q.28. Under which chapter and article does the UN security council consider a threat to
international peace; first explores ways to settle the dispute peacefully,

g Y YR&f uRuG 6y S IR 3rfsse & ded RIPH ifd & fog Wer1 Al &;
Tad Usd faarg @ Wifd Y YaoH & cis & usdid &dl g,

A). | Chapter VI, Article 36
HE VI, TG 36

B). |Chapter VI, Article 33
HEA V), =56 33

C). | Chapter VII, Article 47
SR VI, A5G 47

D). Chapter VII, Article 42  [Correct Answer]

Y VI, HIa5G 42

Q.29. Five Eyes, currently in the news refers to what?

Ui 3, g9 # @a! J &1 afhd didl o7

A). ltisan intelligence alliance between countries [Correct Answer]
Tg &30 & o1 Us Gl 164 &

B). |Itis an Economic agenda signed between countries

g ol & oI gearaid ud e Uolst g



C).  |Itis a space programme to look for life source in space
g 3idief d Siid- Hid Pl e b & AU U idiel drishH &

D). |itis a cooperative alliance to counter Misinformation and cyber attacks

g TTed a1 3R TSR gHa! B JHIEl $2- & 10U Uh YedR] T8 §

Q.30. In the post Soviet era Russia’s outlook at global level is marked by

Tifagd g1 & 916 afie wR R 4 o epe v foud gr1 fafgd 82

A). |Rigid Ideological positions
POR FARD FRUfd
B). |Enhanced role for Soviet era legacies.

Tifdgd g 1 faved & for e g2 il

C).  |Pragmatic de-ideologised worldview. [Correct Answer]
Hapiid el faefp)

D). |Rigidities of cold war era.

Tid g & T &l HARdl|

Q.31. Who said ‘Imperialism is the highest stage of Capitalism’
o og1 & UHgag Ysiag & S=dd WO

A). | Karl Marx
DIct JI

B). |V.. Lenin [Correct Answer]
GIREIERNIE S|

C).  |Andre Gunder Frank
g MR

D). |Emmanual Wallerstein
THAT3M AIeRE A

Q.32. Who said that ‘the United States is not simply a superpower; it is a hyper
power’?

e Dgl fd Ugad AT SHRDT dhacl U HeRIfad ol 6; I8 Uh slgWR U 572

A). |Hubart Vedrine [Correct Answer]

gele dfg
B). |Robert Gates

RECRIES
C).  |Richard Haas



s g
D). |Paul Kennedy
BINGEE]]

Q.33. Which international agreement aims to limit global temperature increases and
mitigate the impacts of climate change?

fag simiyia wwgia &1 9w 3fYs aoAM gig &1 i S Sk saarg ulads & uvEl &1
& F 67

A). |Kyoto Protocol
FIE] HiEtRIa

B). |Copenhagen Accord
HIYTR THEAT

C). |Paris Agreement [Correct Answer]
o THEtar
D). |Montreal Protocol

T wewia

Q.34. The concept of "Responsibility to Protect” (R2P) is associated with addressing
issues related to:

GRET & O et (3R 2 ) FT sraumon Fafafad § 9eiid 1R & 99l $39 9 991 o

A). |Environmental conservation

TR HRa

B). |Humanitarian intervention [Correct Answer]
HHEY 5T

C).  |Economic development
afif fawrg

D). |Cultural exchange

Hitpiad AMEH-UGH

Q.35. The Helsinki Accords, signed in 1975, aimed to improve relations between countries
during the Cold War. Which two superpowers were involved in these accords?

1975 H exA&ied safHe! 9Hsid &1 3590 Wid 9% & SNH o2 & o9 dasf # GUR & 911 549
TEEl | $F A &l Aemigagt mih df

A). | United States and China

HEd T AT R =FH

B). |Soviet Union and China
Hifgag 99 i 9=



Q).

D).

United States and Soviet Union  [Correct Answer]

T e AT SR Hifgaa 99

United Kingdom and France

TA1Ees fdhen ofiw Wiy

Q.36. The Trans-Pacific Partnership (TPP) is a trade agreement involving countries

A).

B).

Q).

D).

from which regions?

oig-Afaftre g (@i te @R gogiar & o 5 9491 & S i g2

Europe and North America

TR R Fad emfE

Asia-Pacific [Correct Answer]

TEET-Ed

South America

SiEm sEfa

Middle East and Africa
7w qd R SIRTET

Q.37. Which international organization focuses on the peaceful use of atomic energy

A).

B).

Q).

D).

and prevents the spread of nuclear weapons?

HH g1 iy 18 WA FHail & =ifagut Iuhh R e § 2R oA sRuRl & uER #
el B2

International Atomic Energy Agency (IAEA) [Correct Answer]

SHTRIPIT AT Sl Tore (MFTSY)

Nuclear Non-Proliferation Treaty (NPT)
AT YR S (T

Organization for the Prohibition of Chemical Weapons (OPCW)
TS BRI & HuY & Oy g@1e (enditissy)

United Nations Security Council (UNSC)
Ty TP Y& UEg

Q.38. The concept of “Global Commons" refers to resources that are:

A).

B).

Q).

TG e HIAG" P ATYRIN I Sqy=1 &1 Sefifd sl & &l

Owned by a single nation

U g Oy & @iida |

Shared by the international community [Correct Answer]

TP TSR GRT |l




Controlled by the United Nations
Hga Ay g fgfEd
D). | Reserved for military use

=7 IUA & for emefaa

Q.39. Which international organization is responsible for maintaining global
economic stability and providing financial assistance to countries in need?

iy anfde RuRar ST T+ S SeTade ol &I oy Serdl YeH &3 & R S
sfaefgty we fier &2

A). |World Trade Organization (WTO)
fay TR e (Segia)
B). | International Monetary Fund (IMF) [Correct Answer]
SERIPTT 5l F19 (METHIS)
C). |United Nations (UN)
RECERUACUE)
D). World Bank
fay d%

Q.40. “Family is the thesis, Bourgeois society is the anti-thesis and the State represents
synthesis” Was said by whom.

"ORAR UifT B, Tof3 9a faidt i § 3k o0 Y=oml & UidfHitd ddr g foad

a1 chgl 7T UT|
A). |Karl Marx
CAREEIES]
B). |Engels

0). Hegel [Correct Answer]

D). |Gramsci

piEns))



